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£ 71 & E & kPa — — — —
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s " N & R #| m*/h 73 100 110 110
LI L BERXKHWEES] MPa 5 8. 82 7.85 7.85
7K E & m 16 21 21 25
B A 2 7B012~ 10B001 ~ 11B001~ 11B001~
X 4| mESER B EE B (&% B {7 i = £ e &
A RVA -7 B | [8 min 27~29 38~42 36~40 36~40
o — 4 [A] #5 # [7],/min - — — —
r v T AE (WER 7 EEH) (min™® | ¢ 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
E (=2 EEER) {min™ | ( 2500 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
(fE & M & &) (C) | (50%5) | (50+56) | (50+5) | (50%£5)
| & E min™ 33~36 26~28 33~36 33~36
% Frx—rDbH mm 15 15 15 15
AR E (M E R 7 EEE) (min™) | ( 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
. (v Bz ) (min™) ( 2500 ) ( 1800 ) ( 1800 ) ( 1800 )
% (fE & W 1B ) (C) (50+56) | (50%x56) | (60%+5) | (50x5)
E R EE Pa — — _ —
" & GREMEZEERL) | (min) C = 1 = Yyl = )1 =)
RZEX v 7 EHETHAE Pa - - - -
(f & B ) (min) C = )1 =y = )¢ =
VUL b A mm — — —
T—5 (1) vV HF mm 1 1 1 1
T—5 (2) I HF mm 1 1 1 1
ES . ) T—h (3) ¥V F mm 1 1 1 1
‘/U\/? T—h (4) VY HE mm — — — —
BARETE | 75— A VN mm - - - -
- R E B R (min) ( 1w Y| 10 )| 10 )| 10 )
(TEBhEHRIZAF) C — )y = )yl = >yl =)
(fEZEELEE) [ No.] | [ X No. 1] [ B No. 1] [ [ No.1] [ X No.1]
o ! 7= A (1) B | sec 30~40 55~60 55~60 35~40
e A sec 75~85 . 75~80 75~80 85~90
A 7 — A5 (2) B W» sec 50~55 55~60 55~60 50~60
WA sec 80~90 65~70 65~70 75~80
3| 7= A @) i Y| sec 25~35 35~40 35~40 40~45
Nr—nzyon #E A | sec 35~40 55~65 55~65 70~75
VeEhEsR | 7 — A @) R W sec — — _ _
B & WA sec — — _ _
T A (5) W sec - — - — -
e A sec — - — —
(HER > 7EiEE) (min) | ¢ 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
(76 8 W B &) (C) (50x5) | (50x5) | (50x5) | (50£5)
EEEEBERD [ No.J | [ & No. 2] [ No.2] [ B No.2] [ X No.2]
N HtHEHN W JE| MPa 9.81 17.2 9.81 9.81
e 7%62%%)%7; A FE | MPa 4.3 4.1 4.3 4.3
& = FUERE | m
" T E HBHEEA MPa 0. 69 0. 69 0. 69 0. 69
(WMER > 7 ElEm#) (min) | ¢ 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
& (= EER) (min™) | ¢ 2500 ) | ( 1800 ) | .( 1800 ) | ( 1800 )
(1 & B %) (C) (50+5) | (50x5) | (50%x5) | (50£5)

WH  FIREAEEE RS (BEE),
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(1/2)

NCP11FB-264 | NCP11FB-303 | NCPL1FB-324 | NCP12FB-324 | NCP12FB-334 | NCP13FB-364 NCPOT NCP10T
tost Ubin EE)FF FREF e a5 o3 ipin EEh IR EEhf
115 110 115 110 120 128 90 105
7. 06 7.85 5 7.85 7.85 7.85 8. 83 7.06
26 30 32 32 33 36 = —
11BX001~ | 11BLOOI~ | ~11BS054 | 11BS055~ | 12BT001~ | 13BUOOI~ 9T001 ~ 10T001 ~

N % # #* O
36~40 36~40 36~40 31~33 32~34 26~28 38~42 32~34
(1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2165 )
(1800 ) | ¢ 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2500 ) | ( 2500 )
(50£5) | (50+5) | (50+5) | (50%=5) | (50=5)  (50%5) | (50=5) | (50=5)
33~36 33~36 33~36 33~36 33~36 33~36 26~28 33~36
15 15 15 15 15 15 15 15
€ 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1633 )
(1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2500 ) | ( 2500 )
(50%5) | (50+5) | (50=£5) | (50£5) | (50£5) | (50£5) | (50=5) | (50%5)
C = D0 C =)yl =] C =)l == =>]c ="
C =0 =l =] =] == C-=>lC="
1 1 1 1 1 1 1 —
1 1 1 1 1 1 1 —
1 1 1 1 1 1 1 —
L — — 1 1 [ -~ -
C 10 ) ¢ 0o )10 )10 ) C10)]C10 ) =l ="
C = 00 = )] =] C =] C=0lC=]C=27|C="
[ENo. 1] | [mNo.1] | [®No.1] | [RNo.11 | [RNo.1] | [®No1] ([ — 1] — 1
40~50 60~65 60~65 60~65 75~82 85~90 — —
110~125 110~115 190~220 190~220 190~220 220~240 ~ —
45~50 60~65 80~90 80~90 80~90 95~100 - —
90~100 105~110 150~180 150~180 150~180 190~200 ~ —
40~45 40~45 55~65 55~65 55~65 80~90 — —
75~85 80~85 100~120 100~120 100~120 130~140 - —
15~20 — 30~40 30~40 30~40 30~40 — —
55~65 - 75~95 75~95 75~95 90~100 - -
( 1?39 )l (1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) - —
(50£5) | (50+5) | (50£5) | (50£5) (50=5) | (50£5) ~ -
[BNo.2] | [@INo.2] | [BINo.2] | [®No.2] | [®No.2] | [HNo.2] - —
9.8l 9.81 9.81 9.81 9.81 9.81 17.2 9.81
4.3 4.3 4.3 4.3 4.3 4.3 4.1 4.3
0.69 0. 69 0. 69 0. 69 0. 69 0. 69 0. 69 0. 69
(1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1633 )
(1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2500 ) | ( 2500 )
(B0X5) | (50+5) | (50+5) | (50%=5) | (50%+5) | (50%+5) | (50=5) | (50%5)




= F o 4 NCP7FB NCPLOFB NCP11FB NCP11FB-253
g ;Jt if_ zgj! EN 3—/ EEhH BEHF ZEhf EEF
" \ 1 B m*h 73 100 110 110
i A i R mAKHHE H| MPa 5 8. 82 7.85 7.85
7oA EE] m 16 21 21 25
B A a2 % 7B012~ 10B001~ 11B001 ~ 11B001~
X 4| ®AEE N BAEEBR &M = ARV R = He &
AR T HIE MPa 34.3 30.9 34.3 34.3
U U FHIE MPa 13.2 13.2 13.2 13.2
H M ITAE—ZMWIE MPa 6. 87 8. 34 6.87 6.87
| THERE S — oo E MPa 31. 39 27.47 27. 47 30.9
4 Ty ME|ACC HAEAEH MPa 7.2 7.2 7.2 7.2
& (HEARY7EES) | (min® | ( 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
(= v bEE#E) (min™) { ( 2500 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
(e & W R &) C) (50%x5) | (50x5) | (50=*x5) | (50£5)
ERERFTARL o | Nem 353~392 510~549 510~549 510~549
pid FEDATT v
FEERATY 7
BT AL b | EEASRT U ZBfF | Nem 353~392 510~549 510~549 510~549
B OFFRHT P OFEDAT hvs
FEEIAR L b OATHLE £:5 3 3 3 3
4 fe m| E E sec 160~180 120~140 120~140 140~160
=7
= w (e B £ &) 7 ) B | 360 ) | ( 360 ) | ( 360 ) | ( 360 )
B N
£ FERIEBNEE | (uERy FEES) | min® | ( 1600 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
- (=P BlEER) (min™ { ( 2500 ) | ( 1800 ) | ( 1800 ) | ( 1800 )
(e 8 W 1B B © (50x5) | (0x5) | (50x5) | (50=*=5)
[0 .
r REEY H mm 0.5 0.5 0.5 0.5
/2 I
NI }
% LG iy (Bl & % B (min) ( 10 ) ( 10 ) ( 10 ) ( 10 )
| (FEEEEED) [MENo.]| [BNo.3] | [BNo.3] | [®No.3] | [ No.3]

wH : BrEEEEERT (BEE),
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NCP11FB-264 | NCP11FB-303 | NCP11FB-324 | NCP12FB-324 | NCP12FB-334 | NCP13FB-364 NCPOT NCP10T
o ki EEH i FEEH o b £85H EEhH A
115 110 115 110 120 128 90 105
7.06 7.85 5 7.85 7.85 7.85 8. 83 7.06
26 30 32 32 33 36 — —
11BX001~ 11BL001~ ~11BS054 11BS055~ 12BT001~ 13BU001~ 97001~ 10T001~
b =" B i [

34.3 34.3 34.3 34.3 34.3 34.3 30.9 34.3
13.2 13.2 13.2 13.2 13.2 13.2 13.2 13. 2
6. 87 6. 87 6. 87 6. 87 6. 87 6. 87 10.3 6. 87
30.9 30.9 30.9 30.9 30.9 30.9 - —
7.2 7.2 7.2 7.2 7.2 7.2 7.2 7.2

( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2165 )

( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 1800 ) | ( 2500 ) | ( 2500 )

(50£5) | (50%x5) (50=5) | (BOx5) (50*=5) | (50=%x5) (50+x5) | (50£5)
510~549 510~549 510~549 510~549 510~549 677~726 - —
510~549 510~549 510~549 510~549 510~549 677~1726 — —
3 3 3 3 3 3 - —
160~180 280~300 340~380 340~380 340~380 380~400 - —
( 360 ) | ( 360 ) ( 360 ) ( 360 ) ( 360 ) ( 360 ) — —
( 1800 ) | ( 1800 ) ( 1800 ) ( 1800 ) ( 1800 ) ( 1800 ) — —
( 1800 ) | ( 1800 ) ( 1800 ) | ( 1800 ) ( 1800 ) ( 1800 ) — —
(50x5) | (50%x5) (50=x5) | (BOx5) (50+5) | (50+5) — —
0.5 0.5 0.5 0.5 0.5 0.5 - 0.5

( 10 )| ( 10 )| 10 )[C 10 Y| 10 )| C 10 ) -~ ( 1w )

[ ¥ No. 3] [ X No. 3] [ X No. 3] [ X No.3] [ [® No.3] [ X No.3] ~ [ ¥ No. 3]
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TYIIA AT —T IV

xr F L 4 BSF36. 15H | BSF52. 15H
g ﬂji( 7 3 K 3—/ B EEF
. P N B nh 150 150
" EH BRAHHHE S| MPa 8.5 8.5
7 b K EE m 36 52
w2 & 2197010001~ | 2195010001~
X 4| RE&N | R EEB &H | B o i x5 *® #e f&
EA R A ha—2[E# | &, min 28 28
o — ¥ [ §5 ¥ [@],~ min — —
A TAEE wERs 7EESR | o) | (2600 ) | ( 2600 )
o (=¥ EEEH) (min™) | (1750=%50) | (1750=%50)
(fE & 1 R E) (C) (50x10) | (50%10)
E1J: S 3 min™! 4030 4030 -
% Fr—rDbH mm — —
PCRAVERE | gmErs 7EER | mic) | (2600 ) | (2600 )
i (= v URlERE) (min™) | (1750+50) | (1750=%50)
* E ® W 5 ) ) | (50%10) | ( 50=10)
E h & E® kPa — —
| B (FBTEBERER) | (min) C = )y =
22 R v 7\ EAR AR kPa - —
(% ¥ i ) (min) «C - ) «C - )
VUL kD A mm — —
T—n (1) Y VF mm 1.5LLF L.5LAF
T—uh (2) YV HF mm 1.5ELF L.5BLF
£ . ) T—h (3) VI mm INIYN 1.5LAF
vy g T—h (4 YUYF | mm L5ELT LBELTF
ARMETE | 7—u (5) 2 va mm — LB
. (H = W B (min) ¢ 10 )| 10 )
7 (fEBh RIS C — ) =)
(fEEEBER) K Nol| [®No. —1 | [ KNo. —]
3t ‘ 7 — A (1) W sec 7010 103=*10
W A sec 95410 11010
oA 7 — & (2) fB R sec 95+10 157%10
M A sec 95410 170%10
3% |y 7= b5 @) V| sec 6510 175410
AN B g A | sec 45%10 19010
& EEER | 7 — & (W) Y| sec 45+ 10 80%10
& fg A | sec 30£10 85+10
7 — & (5) A W sec - 60+10
W A sec — 65+10
(JHER o ElEEED) (min™ | ( 2600 ) | ( 2600 )
(fE &) W 15 &) (°C) (50*10) | (50%10)
(EEEBER) [EiENol] [ No. —]1 | [ ®No. —]
" a TR m - -
" = E BYtHEAS MPa — —
(MERCTEES | mn) | ¢ — )Y | ( — )
5 e E = ) mn) | C — )| C = )
(e &) 18 B %) °C) C — )yl =)

wHl : BTEEEELRT (BEHE).
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= F 4 4 BSF36. 15H | BSF52. 15H
g I;ic I B K 3—/ B REf
, e 3 H H & m°/h 150 150
& OB o B EER O T Mea 8.5 8.5
7 -hm M ER]  m 36 52
BwOOA B o 2197010001~ | 2195010001~
X 4| REG/ | REHEBE &P H {7 % = #
EmAR THE MPa 35+1 35+1 1
;Y U FRE MPa 25+1 25+1
i L FAE—FHAE MPa 25+1 25+1
o |vHRERE o — o m MPa 3541 35+1
o Ty MEACC HAFAES MPa 9+0.5 9+0.5
8 (MER> 7EEES) | (min) | ( 2600 ) | ( 2600 )
(= Vv ElEEE) (min™) | (1750%50) | (1750%50)
(fE & 1 B %) §O)) (50+10 ) | (50%10)
FEEEBRAMFTEL D | Nem - 8800+ 100
pie BHMMT vy
EEAT Y
e BRIV b ERRT U o ZBRAHT | Nem - 8800-+100
;A OFECT B b OFEDATIT Ly
i | HERIR L b OSHES | F - S RIS
4 e EoOR sec 140210 220%15
=
" % (e [0 1 8 43 ) ) | ¢ 365 ) | (360 )
% MEEEBVEE | ghEay VEER) | min) | ( 2600 ) | (2600 )
" (= ¥ Bl (min™) | (1750%50) | (1750:50)
(1 & W 18 &) () (5010 ) | (50%10)
E,T .
- BEEYV Y VHF mm 1.OBLTF 1.OGLTF
SN
;jj ﬁ%{fﬁﬁ\frﬁi ({ﬁu E H# ﬁfﬁ) min ( 10 ) ( 10 )
| (TFREELD) [RiENo| [KINo. =1 | [ No. —]
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= Z H T *¥

= F A 4 DC-M700BR | DC-M650BD-56 |DC-M650BD-418| DC—-A1000BS
W B — AATIWT | AL T3WT | AT T N
N N B A & m’/h | BYE BES 65 65 HEHE100, EFE60
E R B EER S SR ] MPa |BBao Aiso] 4.8 L8 49 HES.0
VobEKHMEE] m 16 16 18 21
B A B M 6701~ 6501~ 6001~ 12050~
X 4| BRES®A wmAEBEB (& H {7 % ' F i &
VAR R ha—2E¥| B,/min | 29/60~30/60| 30/60~62 30/60~62 34/55. 1~
o — ¥ [\ # K [B],/ min -~ - — 58.9
w v TR (RER v 7 [EERE) (min) { ( 1550 ) | ( 2170 ) | ( 2170 ) | (1800=%50)
o (= EEEE) (min™) | ( 2000 ) | ( 2170 ) | ( 2170 ) | ( 1950 )
(fE & B 1B B (C) ( 40~50 ) | ( 40~50) | ( 40~50 ) | ( 40~50)
B & ® min™! 40%2 40+4(—2) | 40+4(—2) 3942
% Froz—r Db mm — — — —
PCEARRE | GapEe 7EER0 | (min?) | (1550 ) | (2170 ) | (2170 ) | (1800%50)
" (=¥ VEEE) (min") | ( 2000 ) | ( 2170 ) | ( 2170 ) | ( 1950 )
= G ) (C) ( 40~50 ) | ( 40~50) | ( 40~50 ) | ( 40~50)
E R EE kPa — — - -
(GREMBERERE]) | (min) ( — )y — )y = )y =)
| B
REX VT EAETHEE kPa - - - -
(% ¥ ) {min) ¢t — )yl = 5y = 51 =)
\EAVIVENY i ¥ mm — — — —
T—Ah (1) Y E mm 2 2 2 2
T—Ah (2) ) UH mm 2 2 2 2
ES ) T—=5h (B) Y mm 2 2 2 2
P F—L 4) LY E mm — - — —
BRETE|7—150 6) ULy mm — - - -
N (J = B M) (min) (¢ 10 )| 10 )| C 10 )|C 10 )
7 (fEBhEHEIZ: 1) [ — 1|0 = 1]/0 — 1[0 - 1
(TEEHEE RS [XEmNo]| [ K No.1] [ ® No.1] [ ™ No.1] [ K No. 1]
g | ! 7 — & (1) 8 O] sec | 20+5/90° | 21+5/90° | 21+5/90° | 32+5/90°
AN sec 43+5/90° 50+5/90° 50+5/90° 60+5/90°
VA 7= 5 (2) B W sec 43+5/180° | 50+5/180° | 50+5/180° | 75%5/210°
W A sec 45+5/180° | 55%5/180° | 55%5/180° | 75%5/210°
4 | % 7= b (3) TV sec 30+5/265° | 40+5/246° | 40+5/246° | 43%5/270°
T MY U H HE A sec 605/265° | 75X5/246° | 75+5/246° | 86%5/270°
VEBERR |7 — & (4) B W sec — — _ _
A E WA sec — — — _
7 — & (6) B U] sec - - - -
W A sec — — — —
(JMER v 7 ElERED) (min™) | ( 1550 ) | ( 2170 ) | ( 2170 ) | (1800%50)
(fE & W & &) (C) ( 40~50 ) | ( 40~50 ) | ( 40~50 ) | ( 40~50 )
(MEEEBES IX@ENol] [ENo.21 | [ No.2] [KNo.2] | [®No.2]
. JMHHES HW K| MPa 23.5 26 26 23.5
b S N ; o
% g K FE | MPa 4.9 1.8 1.8 1RIEL 8, BIET.9
N (Fo& e m) FepEE o o - i -
5 = E HBEEHRENSN MPa 1.0 1.0 1.0 1.0
(JRER > 7 ElERED) mn™®) | ¢ - ) C — )| C = )| C =)
& (2 v EES) mn) | ¢ — )| C = ) — )l =)
(fE & W I8 &) (C) C = )yl = ) = )y = )

wH : SrEEEEERT (BEE).
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DC-AT000BR | DC-A1000BD | DC-SL1000BS | DC-SL1000BR | DC-SL1000BD DC‘SLM%’OBD‘ DC-L1000BS | DC-L1000BR
AA L GIWT | AV TNT W ZA L TIIWT | AL TIWNT | AL T NT W AA VT INT
FEHE100, SE60 | HBHE100, BFE60 | HEHE100, BHE65 | FEHEL00, FIE65 | FEHE100, FE65 | AEMEL7, AJET4 | %8100, HFE60 | FEHE100, FFE60
1B, 0, RS, 0| B4, 0, BES. O [ fEHE4. 0, BIET. 5 | B4, 9, BET. 5 | 4504 9 BIET. 6 [4EHES. 4, TS, 2| #EHEL 4, BET. 4 |1BHE4 4 RIET. 4

21 21 24.6 24. 6 24,6 25.9 30. 6 30.6

10501~ 14001~ 30001~ 31001~ 30001~ 33001~ 20001~ 21001~
B’ T = i &

34/57. 5~ 32/56. 5~ 27/60~62 27/60~62 27/60~62 27/58. 3~ 26.5/60~ 26.5/60~
58.9 58.5 59.3 27/60 27/60
(1800+50) | (1800=50) | (1800=£50) | (1800=50) | (1800=%50) | (1800=%=50) | ( 1650 ) | { 1650 )
( 1950 ) | ( 1950 ) | ( 2000 ) | ( 2000 ) | ( 2000 ) | ( 2000 ) | ( 1850 ) | ( 1850 )
( 40~50) | (40~50) | (40~50) | ( 40~50 ) | ( 40~50 ) | ( 40~50) | ( 40~50 ) | { 40~50 )
39+2 39+2 38+2 38+2 38+2 45+2 42+2 42+2
(1800%=50) | (1800=50) | (1800%=50) | (1800=50) | (1800=+50) | (1800=50) | ( 1650 ) | ( 1650 )
( 1950 ) | ( 1950 ) | ( 2000 ) | ( 2000 ) | ( 2000 ) | ( 2000 ) | ( 1850 ) | ( 1850 )
(40~50) | (40~50) | ( 40~50) | ( 40~50) | ( 40~50) | ( 40~50) | ( 40~50 ) | ( 40~50 )
( — )1 C = )] =] C =1 =] == 010 =21
¢ — )yl — )y =930 =] =31 =901C= D] =
2 2 2 2 2 2 2 2
2 2 2 2 2 2 2 2
2 2 2 2 2 2 2 2
—_ J— J— — J— 2 J— —

( 10 ) ( 10 ) ( 10 ) ( 10 ) ( 10 ) ( 10 ) ( 10 ) ( 10 )
[ - 1/71 - 140 -2 - 317t - 1170 - 170 = 170 - 1
[ X No.1] [®No.11] [[®No. 1] [ B No. 1] [ X No. 1] [ ® No.1] [®No.11 [ X No.11]
32+5/90° 32+5/90° 63+5/90° 63£5/90° 63+5/90° 48+5/90° 58+5/90° 5875/90°
60+5/90° 60=5/90° 60+5/90° 60+5/90° 60+5/90° 71%5/90° 92+5/90° 92+5/90°
75+5/210° | 75%5/210° | 75%+5/180° | 75%5/180° | 75%5/180° | 103+5/180° | 130+5/180° | 130+5/180°
75+5/210° | 75+5/210° | 75%5/180° | 75%+5/180° | 75%5/180° | 81=+5/180° | 100=+5/180° | 100+5/180°
43+5/270° | 43%5/270° | 47£5/270° | AT=%5/270° | 47%5/270° | 65+5/270° | 75+5/270° | 75+5/270°
86+5/270° | 86+5/270° | 86+5/270° | 86%5/270° | 86+5/270° | 88=%5/270° | 100=£5/270° | 100+5/270°
— — — — — 29+5/220° - —

— — — — — 63+5/220° — —
(1800%£50) | (1800=50) | (1800=50) | (1800=%50) | (1800=*50) | (1800%+50) | ( 1650 ) | ( 1650 )
( 40~50) | (40~50 ) | ( 40~50) | ( 40~50 ) | ( 40~50) | ( 40~50) | ( 40~50) | ( 40~50)
[ X No.2] [ B No.2] [ No.2] [ No.2] [ ¥ No.2] [ X No.2] [ X No. 2] [ X No.21]
23.5 23.5 26 26 26 27.5 26 26
FENEA 8 EET, O FENEA 8. BIET. O (EHEA. 6, BT | | 4B HEA 6, ST 1| EEHES 6 EET. 1| $EUES, O, BT, 6| i, 6, B/E7. 8| 1EHE4. 6, FIL7.8
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